

Name: Shittu Rajesh Adekunle  
Matric No. 19/19115011399

College: MHS Dkt 1  
Date: 02-04-2020

1  $y = 2x^2$  at point (1, 2)

Solution

$$y = 2x^2, \quad \frac{dy}{dx} = 4x$$

$$\frac{dy}{dx}|_{x=1} = 4(1) = 4$$

$$m = 4$$

a) Equation for tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x + 2 = 0$$

b) Equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$4(y - 2) = -x + 1$$

$$4y - 8 = -x + 1$$

$$4y + x - 9 = 0$$

2  $y = 3x^2 - 2x$  at the point (2, 8)

Solution

$$y = 3x^2 - 2x$$

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx}|_{x=2} = 6(2) - 2 = 12 - 2 = 10$$

a) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x + 12 = 0$$

Equation of the tangent

$$y - 10x + 12 = 0$$

b) Equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$(y - 8) \times 10 = -x + 2$$

$$10y - 80 = -x + 2$$

$$\therefore 10y + x - 82 = 0$$

3)  $y = x^3/2$  at the point  $(-1, -1/2)$

Solve

$$y = x^3/2$$

$$\frac{dy}{dx} = \frac{3}{2}x^2$$

$$\frac{dy}{dx}|_{x=-1} = \frac{3}{2}(-1)^2 = \frac{3}{2} \cdot 1 = \frac{3}{2}$$

$$m = \frac{3}{2}$$

a) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y - 3x - 2 = 0$$

b) for normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y + \frac{1}{2} = -\frac{1}{\frac{3}{2}}(x + 1) = -\frac{2}{3}(x + 1)$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

$$3y + 2x + \frac{7}{2} = 0$$



4)  $y = 1+x-x^2$  at pt  $(-2, 5)$   
 Slope  
 $y = 1+x-x^2$   
 $\frac{dy}{dx} = 1-2x$   
 at  $x = -2 = 1-2(-2)$   
 $= 1+4 = 5$   
 Ans. 5

4) Equation of the tangent  
 $y - y_1 = m(x - x_1)$   
 $y - 5 = 5(x + 2)$   
 $y - 5 = 5x + 10$   
 $y - 5x - 5 = 0$

5) Equation of the normal  
 $y - y_1 = -\frac{1}{m}(x - x_1)$   
 $y - 5 = -\frac{1}{5}(x + 2)$   
 $5y + 20 = -x - 2$   
 $5y + x + 22 = 0$

5)  $y = \frac{1}{x}$  at pt  $(3, \frac{1}{3})$   
 Slope  
 $y = \frac{1}{x} = x^{-1}$   
 $\frac{dy}{dx} = -x^{-2} = \frac{1}{x^2} = \frac{1}{3^2} = \frac{1}{9}$   
 at  $x = 3 = \frac{1}{3^2} = \frac{1}{9}$   
 $m = \frac{1}{9}$

4) Equation of the tangent  
 $y - y_1 = m(x - x_1)$   
 $y - \frac{1}{3} = \frac{1}{9}(x - 3)$   
 $9(y - \frac{1}{3}) = x - 3$

5) Equation of the normal  
 $y - y_1 = -\frac{1}{m}(x - x_1)$   
 $y - \frac{1}{3} = -\frac{1}{\frac{1}{9}}(x - 3)$   
 $y - \frac{1}{3} = -9(x - 3)$   
 $y - 9x + 27 = 0$